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159.  RFRT R AE B M R 2 (a0 ~4atp)
(IBFN404E =100) 4 )
= P

BRI40E & H £ i3 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0
41 105. 1 103.9 105.9 103. 4 105.0 101. 1 103. 6 108. 1
49 109. 3 108.9 109. 1 108.8 110.0 100.6 106.5 112.2
43 115. 1 115.9 120. 1 114.8 114. 1 101.5 [11.2 118.2
44 121.1 122.9 127.8 121.5 118.8 102.0 116.6 124.7
L % 119. 7 120.0 128. 2 117.7 114.9 101.3 117.6 125.8
1 T 117.0 118.6 132.2 114.3 117.4 100. 1 115.3 118.6
5% i 121.9 127. 1 131.5 120. 8 123.2. 99. 8 117.7 125.9
il 5 122.0 121.6 132.3 118.9 128.9 100. 4 117.1 126.6
X F 120. 2 120.5 129.5 118.2 123.0 101.6 115.9 123.8
thi 12 123.0 123.9 130. 7 121.8 127.3 104. 6 114.9 127. 1
Vi 5 121.5 124. 6 133. 2 121.9 116.9 103.0 120. 2 122.9
7K =1 122.3 124. | 127.9 123. 1 125.8 101. 1 117.6 124. 2
=4 Fiid (=1 123.3 126.2 127.0 126.0 123. 8 100. 6 123. 4 122.5
Bl =3 119. 4 121.9 129. 2 119.7 114.7 103. 8 116.3 121.7
i 0 121.1 119.7 124. 5 113.9 123.2 98. 7 122.5 125. 1
T £ 121.3 124. 1 126.0 123.6 115. 4 100. 4 120.5 122.9
H O OH  #Em) 121. 6 123.5 124.6 123.3 116.0 100. 6 119.3 125.0
it pis 120.3 121.3 123.9 121.3 119.6 100.9 117.9 123.7
Hr b 119.8 117.0 128. 1 114.0 113.0 101. 8 116.9 130.0
=1 il 122.7 123.7 130.8 121.6 123.3 103.7 121.2 194. 4
& N 122. 4 123. 4 130.0 121.5 127.5 109. 9 112.5 125.7
e 3 117.0 117.3 129. 6 113.3 111.7 103. 6 113.3 122.7
H i3 120. 3 121.1 126.7 119.6 112. 1 102. 1 121.5 124.0
& &y 121. 4 120.3 127.3 119.0 129.3 100. 7 113.0 125. 6
53 B 122.0 124.0 127.0 123. 1 114.6 99.3 115.3 198. 4
Fec fifd 120.8 122.8 128. 4 121. 1 7.7 100.3 119. 4 122. 6
% =) B 120. 2 121.7 126.9 120. 2 124.6 100.7 1.7 123.3
it i 120.9 192.8 127.5 121.3 118.7 1092.9 114.4 195.2
K b 122.8 123.3 128.9 121.7 120.7 103. 4 120.0 127. 5
= B 120. 4 123. 4 128.5 121.9 117.6 103. 4 112, 6 123.2
X 57 121.0 122.0 125.0 121.2 126.3 101.3 14.6 123.3
o )= 120.3 120.6 127.5 119.0 120.5 101. 2 113.3 123.2
= B 121.7 121.7 129.3 119.3 122.0 101. 8 116.3 197. 4
f ik i 122.0 125. 2 128.7 124. 2 124. 5 101.2 103. 4 125.9
=3 B 121.0 120. 2 £29.2 117.5 125.5 102.9 118.2 124.9
#2 L 121.5 121.3 128.5 119.3 126. 4 106.5 120.7 123. 1
i i 125.0 129. 6 130. 5 129.3 120. 4 105.3 116.7 127. 6
/A B 121.6 123.6 128. 8 122.3 117.8 100. 7 118.2 124. 8
th [ 124. 6 125. 1 128.9 124. 1 123. 4 102.8 113.7 132. 6
5 B 121.3 124. 1 129.7 122. 3 112.3 101. 8 118.7 195.3
= PN 124.8 121.5 129.0 119.3 122. 1 103. 1 124. 1 133.6
7" thr 121.0 125. 1 127.8 124.2 119.3 100. 6 1.9 122.9
= gl 122.9 125. % 131.7 123.2° 124.3 99. 2 122.3 122. 6
V] it 122. 1 123.9 131.0 121.8 113.0 102.9 116.7 198.3
P H 125. 1 127. 6 129. 4 127.0 131.0 104.7 125.0 122.5
& I 124. 4 127.3 127.9 127.2 127.3 100. 7 113.0 127. 2
HE N 125.0 129.2 131.6 123.5 120. 4 105. 4 114.3 129. 4
A ol 124. 6 123. 1 123.9 127.9 130. 1 104.9 115.5 124.3
=1 % 124. 4 127.5 130. 7 126.5 126.5 104. | 118.0 124.5
B R B 124. 7 126. 1 129.2 125. 1 24, 1 102. 4 119.5 198.9
it Ju M 121.5 125.3 128. 2 124. 4 6 100. 6 112.9 124.3
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